DO NOT OPEN THE SEAL OF THE BOOKLET UNTIL YOU ARE TOLD TO DO SO

SSC CHSL

TEST SERIES

(DATE- _/_ /_W

INSTRUCTION OF CANDIDATE

( TEST SERIRS NO. W

A

SHIEART & ™0 sTaer

t A-1074J

QUESTION - 100 MARKS -200

NEGATIVE MARK - 0.5

DURATION -60 MIN.

1. FqT A AT At T FT HRE a0 qAA
Y7 FT T STIANT HY

2. 90T IRH FA B AT T T qEawr i
T AT FT o qAqT IT @A wE faAT
AT FET-HeT AT A(TAF JAT 3T I8 (et
WA gL Al T AT & ATeqq q a5l TF
qRasr & Ta« A

3.39 W qRasr & FF 10077 3 |

4.9 T FEqES 70T §, NEd v@s W
% ST & fw IR fRwer Ry 1w §, srosr
T AR fAFea § 99g S99 TE ol
fAFeq 1 AT R

5.9#T Tt & 39T A AT 4 Ru ww
STL-T9% X o dfha FA 2

6. SUL-IF & WA gg Med IAC-TTAF &
I8 9T 9 sifda §, O Sue-umd & v
TH T 9F &9 § A

7. 3@ W qRaET § TH-FE & o @refr
IS ITAsH &

8. 9 ET THTH g & qd qleredt w7 q
qEX TE AT qHA F

9. TOET |UTH T F THTQ MT IA-TTF
@ ORIGINAL COPY &I HTWSIRX & 919
ST FARC ITH AATT § & AL T
ET IR

10. 9H&T GHIE I 9X WA qfeaEr TE
IAC-9% &t Candidate's Copy &l sTq" €T
A A A osgEfa )

11. IAF ¥gl I X 2 3 TG G q°qT
TAT TAq SO U 1/2 3F FHET ST

[~

IDEAL

INSTITUTE
>

IDEAL INSTITUTE

ADDRESS - Crossing No.9, Sharda Nagar,
Kakadev, Kanpur
Helpline No. - 9415728437 , 9335615537




£ IDEAL iNsTITUTE

1. Fafafea gy o, g e fawen & & Jefia reg-gva &1
Igq BIfoTU|

In the following question, select the related word pair from the
given alternatives.

Chimney : Smoke ::?:?

(a) Gun:Bullet (b) House : Roof

(c) Clay: Ceramic (d) Tea: Kettle

2. fFafafea IR T e AffarerATe
W%\?ﬁ'\’wﬁﬁ%l @ FUF JTd PIPIEI Three of the

following four numbers are alike in a certain way and one is
different. Pick the number that is different from the rest.

(a) 2727 (b) 5471

(c) 6351 (d) 5742

3. FrufafEa awfievo o ad w3 & fore foe 3 gl Y
3y § uyfvafdd frar sm =nfgee

Which two signs should be interchanged in the following
equation to make it correct?

48 - 36+3+266x19 = -46

(a) +Gh?+ +and+ (b) +3-?|T- +and -

(c) x 3R + x and + (d) x 3R + xand +

4. FafafEq vy 9, fRu e fawen & & favw wreg-gra &1
ma?rﬁlm In the following question, select the odd word
pair from the given alternatives.

(a) Carnivorous —Tiger (b) Herbivorous — Cow

(c) Rabbit —Herbivorous (d) Carnivorous — Dog

5. Tf¢ CIRCLE BT 12272115175 & U A Hedx [FATAEE,
3R HEIGHT P 13141615282 ¥ U ¥ Heas frar mar 8 ot
IMPORT @1 {5 U H Hedes fHdaT SITTT? If CIRCLE is coded
as 12272115175 and HEIGHT is coded as 13141615282, then how
will IMPORT be coded as?

(a) 22293133382 (b) 22297143322

(c) 22293144322 (d) 22296133822

6. 39 YE BT 79 PioTg, Forad T=img St R datiia
2, Py v PrafifEd wwqe St aem 21

Select the set in which the numbers are related in the same way
as are the numbers of the following set.

(13, 15, 392)

(a) (9, 15, 288) (b) (19, 23, 828)

(c) (3,5,31) (d) (13,17, 415)

7. MLHIN & AJAR, AT T et & | 19 91 g g
JYT YR ST

From the given alternatives, according to dictionary, which word
will come at FIRST position?

1. Clause 2. Cigar 3. Clever 4. Cinema 5. Client

(a) Cinema (b) Client
(c) Cigar (d) Clause
. uy o, & TR e I g A BT 99
aﬂl\;ﬂQ |
In the following question, select the missing number from the
given series.
34, 69, 140, 283, ?, 1145
(a) 440 (b) 545

(c) 570 (d) 625

9. PR IR i wEid s FAfm TR AT
Wﬁ%aﬁ?@ﬁ-ﬁ%l T‘I’fﬁlﬁilﬁﬂﬁﬁ'!l Three of the
following four letter-clusters are alike in a certain way and one is
different. Pick the odd one out.

(a) AVZ (b) UPF

(c) OKM  (d) EzV

10. TSHI ®1 TP Ufea |, g, M A 10 97 7 3R 3o,
SMYR A 2197 81 T 3T T MU § yRafdd sd 21 3«
almarrwﬁzsaﬁl ?ﬁﬁﬁﬁﬁlﬁﬂ@%%’ In a row of

boys, Rahul is 19th from top and Ajay is 21st from bottom. They
interchange their position, Ajay now becomes 28th from bottom.
How many boys are there in the row?

(a) 47 (b) 46

(c) 45 (d) 48

11. f3T T faweul 9 39 Mg &1 99+ Fiforg, o g wrsg
F U BT YT HP 81 ST ST HPHdT IFrom the given

alternatives, select the word which CANNOT be formed using the
letters of the given word.
Liabilities
(a) Lite (b) Able
(c) Like (d) Table
12. TS (AIf¥d e UTWTH, “HARMS” BT “81181319” F U |
fRraT ST 8 iR “FLUTE” Y “61221205” & U | forar sirar
21 At 3 Y9 F “wounp” B = H forRaT \ITE? Ina
certain code language, “HARMS” is written as “81181319” and
“FLUTE” is written as “61221205”. How is “WOUND” written in
that code language?
(a) 21144152  (b) 21441514
(c) 231521144  (d) 171921415
13. U@ i ge yrwr d, -+ o1 ok v, - BT 3k e, e BT
o s+ 3R e T ok -+ 2, ) Frafid W 1 SR 9T
aﬂl\;ﬂl! |
In a certain code language, '+' represents '+', '-' represents 'x', '+'
represents '+' and 'x' represents '-'. Find out the answer to the
following question.
8+14-20+5x2="7?
(a) 46 (b) 62
(c) 32 (d) 14

4. Frafafaa wftero s 3| Tfisru sl afl s &
ﬁq%a’rﬁa’rﬁ 3y § ufRkafdd fear s =nfge?

The following equation is incorrect. Which two signs should be
interchanged to correct the equation?

12-6x5+20+4=31

(a) +G?|T+ +and+ (b) +3'ﬁTx +and x

(c) -G?R+ -and+ (d) +3'ﬁTx +and x

15. f& 7010 =-7, 50*5 = -10 3NT10*5 = -2 §, AT 80*1 =2 If
70*10 = -7, 50*5 = -10 and 10*5 = -2, then find the value of 80*1
=?

(a) 45 (b) -25

(c) 20 (d) -80

16. frafafea & & o= a1 ug, & o J=3 3t wgfa o
TR AT B |

Which of the following terms follows the trend of the given list?
XYXYXYxy, XYXYXyxXY, XYXYxyXY, XYXyxYXY, XYxyXYXY,

(a) xyXYXYXY  (b) XYXYXYxy

(c) XYXYXyxY  (d) XyxYXYXY

17. SITH U I HIGNGTH A IeaT 81 T A, SR fG=MH 6
%ﬂ?m%ﬁwa—s’mﬁmﬁsﬁvﬂsﬂ%sﬁuﬁﬁ
Tqdr g | g1 gua o g B, Td fa=m ¥ o frift e 8, fbe
IR B 3R Ga1 3 3R 6 fet Tarar 3, fbw sroft grft 3w
ged1 g 3R 4 i aarar 81 dt o A F A< &, 7 8 Tt
%? Two trucks start from the same warehouse. Truck A goes 6
km North, then turns to its right and goes 4 km. In the
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meanwhile truck B goes 9 km East, then turns North and goes 6
km, then turns to its right and goes 4 km. Where is truck B with
respect to truck A?

(a) 17 T gd 17 km East

(b) o fHH Uf&d 9 km West

(c) 17 T UfEA 17 km West

(d) 9 I & 9 km East

18. U ¥, S HYI & 916 <1 fep | 3R few e @1 a0

a A et B W W Ut f T wYA I I T @
3R fyofa dfifsre fo faam wan 1 @ Freed(afe 15 @), e
T HYAI BT ARV HIAT R |

DY

I: PIS FORR, T e @ BUA

I: ®18 rudfaea e T @

frepd

1. g} v, Rdifdea @
fred
u: g9 Roifeea, @ &

In the question two statements are given, followed by two

conclusions, | and Il. You have to consider the statements to be

true even if it seems to be at variance from commonly known

facts. You have to decide which of the given conclusions, if any,

follows from the given statements.

Statement

I: No mirrors are glass Statement

Il: No reflective are mirrors

Conclusion

I: All glass are reflective Conclusion

Il: All reflective are glass

(a) Had FHY | &aﬂwm% Only conclusion | follows

(b) Fad frsh | @WW% Only conclusion Il follows

(c) frsap | 3R ||aﬁ=ﬁsﬁ“awmﬁ% Both conclusions I and Il

follow

(d) A FHe | 7§ Y 1| SITERUTIRAT S Neither

conclusion | nor conclusion Il follows

190. FafafEa snepfa ), smaa widRiger #) gxifar 8; 9,
o1 gxitar §; Ay, H1afsas o gxifar 8 siv o,

TTaraii o1 gRitar 8 | 9 S a1 gl TyE I gy, At

FIAfeTT 3, 7 € ura

In the following figure, rectangle represents copywriters, circle

represents cartoonists, triangle represents comedians and

square represents Mothers. Which set of letters represents

copywriters who are neither comedians nor Mothers?

(a) BE (b) CD

(c) AF (d) IH

20. TP H& UTHTH, DAUGHTER BT ZWCCDBAI & =4 | forar
a1 8 1 a1 I U9 H EVERYONE Y fh wu # ferar s
In a code language, DAUGHTER is written as ZWCCDBAI. How
will EVERYONE be written as in that language?

(a) ADBIGHEA  (b) ADVIGCEA

(c) ADAIGFEA  (d) ADCIGFNA
21. 39 fAweq o1 994 Fifog, &t di e aul-aqg & It
YHR Halid g, ORI THR g1 qul-a9g, ugd qul-aqg 9
Tafta %I Select the option that is related to the third letter-
cluster in the same way as the second letter-cluster is related to
the first letter-cluster.
BOOK : TWIQ:: BEER:
(a) TVEV (b) TVSX
(c) TMYX (d) TMGE
22. Fafafaa uy d &9 vensl $ ar aug RuTw )
o v wgg o1 gust ol i T, gt wen i
T ab/fraa/ady @ Gafta 3 1| i g, we
b /fFraaRidy A A g1 o) e e fawet @ fvw o1
Waﬁﬁ'l'{l In the following question, four groups of three
numbers are given. In each group the second and third number
are related to the first number by a Logic/Rule/Relation. Three
are similar on basis of same Logic/Rule/Relation. Select the odd
one out from the given alternatives.
(a) (44,42,36) (b) (56,54, 48)
(c) (38,36,32) (d) (64, 62, 56)

3. T T SUUI Y MIN T TR T ST R, A 1 SR
mﬁr S arpR A TR R
If a mirror is placed on the line MN, then which of the answer

figures is the right image of the given figure?
M N

N

(a) (b

(c) (d)
24. IR arpfa B, Fafaf@a B A AT e, vy arpfa &
1 48 99 & MR W g a8 oI qahet |

Which of the following cube in the answer figure cannot be
made based on the unfolded cube in the question figure?

O
1% |O|H:-:
X

(a) (b)

o
Y3))
(@)
200|% >?<’.X

o

[+]
(c) (d)
25. I fIPeq BT 991 HIE, I AR TSI 4 Sl PR
et 8, fora yoR gat wen, gt e @ wafia g1
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Select the option that is related to the third number in the same
way as the second number is related to the first number.

74 :65::58:

(a) 89 (b) 94

(c) 74 (d) 121

26. FrafafEa & @ 19 a1 9@ ST | Rafas
&mﬁq‘r%wﬁﬂé’tfﬁm YT? Which of the following
elements were not found in the form of archaeological remains
from Kalibangan?

(a) aﬂ?ﬂq%ﬂ?’ Black bangles

(b) G‘F@Iﬁ Fire pit

(c) WEAIHA A Ploughed field

(d) A G Couple burial

27. WA § A ST UGAT SUSRT HET fGUT AUT? Where did
Lord Buddha deliver his first sermon?

(a) IS Lumbini  (b) ST Bodh Gaya

(c) IRANY Sarnath (d) m Kushinagar

28. e o, Rrarel Ht Sufa &1 a TSR T AT? In
which year, Shivaji was crowned as the Chhatrapati?

(a) 1608 (b) 1646

(c) 1674 (d) 1710

29. Tt w@re o & fhas! RITTHT, WRT & AR §8
d}? Which of the following organizations was established
outside India?

(a) m@m Indian Association

(b) 3% 3f&UT THRATIA East India Association

(c) W-mmw Bengal-British India Society

(d) SFSTTANT India league

30. T SEIGY TRlt BT 5 f5a I 3T UT? Lal Bahadur
Shastri was born in the year

(a) 1844  (b) 1864

(c) 1884  (d) 1904

31. SETad! AME ST (P P 3am) fpaIsa &
@R‘T%’-‘ Indravati National Park (Kutru National Park) is
situated in the state of

(a) A U Madhya Pradesh

(b) FF&IFHE Tamil Nadu

(c) I U Uttar Pradesh

(d) @?ﬂw Chhatisgarh

32. frafafEa & @ 1, e g T8 82 Which of the
following is NOT a Jovian planet?

(a) M saturn (b) Wﬁf Jupiter

(c) T Mars  (d) T=0I( ) Neptune

33. frafafea [ & & fora!, YaeT 9NR &1
AIZC TI3H bl SITdI §? Which one of the following volcanoes
is called the Light House of the Mediterranean?

(a) UCHT Etna (b) ﬁw Vesuvius

(c) [EARETIRY Kilimanjaro (d) F{T@ﬁ Stromboli

34, R AfaU™ &1 I v, fAafafea o | feaw ddfta
%? Part IV of constitution of India deals with which of the
following?

(a) Y The Union

(b) I The States

(c) i PR Fundamental Rights

(d) w%%ﬁ%&waa Directive Principles of State Policy

35. TPIUT AHE YT ST P10 fPIw Auar gl
The Speaker of Lok Sabha addresses his letter of resignation to
the -

(a) W%W President of India

(b) YT A Prime Minister

(c) TG & IJUTHE] Deputy Speaker of Lok Sabha

(d) W%H@Wsﬂ?ﬂ The Chief Justice of India

36. ":ﬁm"\’l'lﬁas ﬁl@'iﬁ" % §H DI A? Who was the
founding father of "Theory of bureaucracy"?

(a) W@W{[ﬁ?ﬂ F. W. Taylor

(b) ARI IR Max Weber

() Wﬁ'{ﬁ Elton Mayo

(d) Bﬁm Herbert Simon

37. YR AU &) {59 g o1, 73 § Wdurfe
T AT gRISNST TT? Which Schedule of Indian

Constitution was added by 73rd Constitutional Amendment Act?

(a) C’fﬂﬁ\’fﬂﬂ?ﬁ Eight Schedule

(b) =dT ST Ninth Schedule

(c) aﬂfﬁ\’rﬂﬂ?ﬁ Tenth Schedule

(d) waﬁeaﬁiﬁ Eleventh Schedule

38. SRR ¥ AHTUG: {59 5a &1 WAk fHar SIrar 82 The

liquid which is most commonly used in Barometre is
(a) T Water
(b) URT Mercury
(c) 3eHIEd Alcohol
(d) SWRIGd T Al of the above
DI AT IUBIT AF (TS W) Rra w ik TR
aﬁm%? Which instrument measures AF (Audio Frequency)
signal level and noise?
(a) JFTTHIY Vectorscope
(b) VU HleX VU meter
(c) Qe Qmeter
(d) T iHeR Psophometer
40. Wﬁﬁm %Wﬁ?ﬂ%l Mass number is
always equal to ;
(a) TIci- &1 UBAT Number of protons
(b) uagﬁrﬁm Number of neutrons
(c) uﬁ?ﬁraﬁﬂwaﬁwﬁa@ﬁaﬁmmw Sum of number

of protons and number of electrons

(d) el &1 T 3R *ELQ\IJ'-I P YW HTTART Sum of number of
protons and number of neutrons

41. YU BT I I & fo1¢ {5 g &1 Sy fovar smar
%? Which glass is used to make sunglasses?

(a) PRI BT Crook's glass

(b) qﬁmm Potash glass

(c) SFT & Jena glass

(d) TISTH Soda glass

42. TIRareST SiaRiga fRaf$areR few wew # wufa faar
SITEI? Gorewada International Zoo to be set up in which city?
(a) T?[ Pune (b) AINTYR Nagpur

(c) AIRIF Nashik (d) H@g Mumbai

43. YRAH ¥ 2019 ®, T R {54 wafe o watfee w=d
ﬁ)_QTTNT%? Who has become the Most Googled Person of the
Year in India 2019?

(a) WW Anand Kumar

(b) Wﬁ—é Yuvraj Singh
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(c) G‘Ff\'l-lzlaqa?—fqﬁ Abhinandan Varthaman

(d) ﬁaaﬁ?ﬁw Vicky Kaushal

44, YT 3RT FHRTT H YRA & Weigd & FU | frd
ﬁgﬁ%ﬂT"TﬂT%’-‘ Who has been appointed as India’s
Ambassador to the United Arab Emirates?

(a) qfﬁfm{ﬁ Navdeep Suri

(b) 3THTY FATTH Akash Nigam

(c) YdT YR Pavan Kapoor

(d) Wﬂm Surjeet Patel

45. CIT TP 2020 & fIT FIIBTE B3 a1 T
HRAT ITeR (Ygerdr-) ﬁ?aﬁ%? Who has become the first
Indian wrestler to qualify for the Tokyo Olympics 2020?

(a) AT BITE Geeta Phogat

(b) aaﬁ?n@r\ﬁ Babita Kumari

(c) fAIT BRTE Vinesh Phogat

(d) &t AT Sakshi Malik

46. m@?[, mmiﬁ@ﬁ%’ The Kambala sport is a
sport of which state?

(a) ?‘I'&IFFHE Tamil Nadu

(b) 3 TG Andhra Pradesh

(c) PIcP Karnataka

(d) EIUINE] Nagaland

47. TYE WRT BT 23 TT HHIT "HIATER 2019" fra wgv
T JTgiford fHaT T2 The 23rd edition “Malabar 2019”
maritime exercise is being conducted in which city?

(a) AN Tokyo  (b) 3YTHT Osaka
(c) PIS Kobe (d) Sasebo
48. 3i o wewig (imr) wfgen fay AT 2000 B

o :quﬁ?CIT%? Who has been named International
Tennis Federation (ITF) Women’s World Champion 2019?

(a) @é’éan'c“f Ashleigh Barty

(b) BT fRITBIAT Karolina Pliskova

(c) 13t 3fTBT Naomi Osaka

(d) ﬁlﬁlﬂm Simona Halep

49. WYET AT fay H7 2019, 19 W HA St 82 which
team has won FIFA Women World Cup 2019?

(a) 3"%_6' England

(b) :ﬂ?{a—é Netherlands

(c) WIS sweden

(d) Tgard I 3AR®T United States of America

s0. b fa ) wRfTa o fawr & wu & v wiman @2
Which day is celebrated as Kargil Vijay Diwas?

(a) 26 S 26th June (b) 26 SIATS 26th July

(c) 207 20thJune (d) 16 A8 16th May

51. i Y 3T BT HWAT 53y224x36, 24 A AU &, A x 3R
y a?:q\:I?lT[ 'Fl'lqa?f%l'l! (5y+3x) T HIH HIT %7 If the nine digit
number 53y224x36 is divisible by 24, then the value of (5y+3x),
for the smallest value of x and y, is:-

(a) 2 (b) 7
(c) 8 (d) 9

5 5 3

S (L Y,
s2. T ? 7

P RV T S P LN LTl
Thevaluecrfgv?ﬂfomh-Eﬂfﬂ (3‘|‘3ﬂf5)1
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(a) 25/9 (b) 23/9
(c) 35/18 (d) 32/9

9.35x%9.35%9.35-7.16x7.15%7.15
93.5%93.5+71.5%71.5+93.5%71.5

oo @R 7

53.

59.35x9.35x9.35—7.15x 7. 16x7.15 |

is equal to}

93.5x93.5+7L5x71.5+93.5x71.5
(a) 0.22 (b) 0.022
(c) 2.2 (d) 0.0022
54.

a5 + 35y = (205 By s 4 By 4 07 4+ 5 =00
W !

457433 = (0B 3y A+ By ) hen 4 5 = e
(a) 12 (b) 14
(c) 16 (d) 18
55.

ITE a%+b?= 210 3R a+b=7 &, T (a+b)>-3ab fFTsd =T
If a®+b*= 210 and a+b= 7, then (a+b)*-3ab is equal to

(@) 30  (b) 21

(c) 28 (d) 35

56. gfe TP AYS Asc H, D 3R E, YT AB SR ACTR §H
AD 4

YR 2 % DE, Bc HFTUAIR T AR 50 7 TlafR ac=22

ﬁ'l-ﬁ %, ?ﬁ AE %:- If in a triangle ABC, D and E are on the sides AB
AD

and AC, such that, DE is parallel to BCand EI

cm, then AE is

@) 4TH 4cm  (b) 6T 6cm

(c) 109 10cm (d) 8 TH 8cm

57. PQ, 0 ¥% 3 13 At A= ad tw qa Pt Shar g,
T} arars 24 AW 1 p 3R o fig ) woxf Y, fig Tw
TS g 3l Ufassied g, dl TP B TaTs (@) §:- PQ s a
chord of length 24cm of a circle with centre O and of radius 13
cm. The tangents at P and Q intersect at a point T. The length of
TP is (approx)

(a) 2497 24 cm (b) 3199 31em

(c) 379 37cm  (d) 429H 42 cm

58. ABC U@ JUSIV YW B, et Y= as= 12 A+ ik
BC= 16 A ¥ 1 A ABC ¥ 3(ER 0 H% BT TP g ST AT,
ﬁaﬂﬁ?ﬂ%:- ABC is a right angled triangle with AB= 12 cm
and BC= 16 cm. A circle with centre O has been inscribed inside A
ABC. The radius of the circle is

(a)l@fn 1cm (b)Z@ﬁT 2cm

(c) 39H 3¢m (d) 497 4 cm

59. TP T BT @ d 220 A B 1 39 TS fawof &
ngllﬁ'lﬂ Iﬁww?ﬁm%rme area of a

rhombus is 220 cm?. The length of one of its diagonals is 11 cm.
The length of other diagonal is:

(a) 15THT 15cm  (b) 20TH 20 cm

(c) 309 30cm (d) 40 9H 40 cm

60. TP NP &1 AT 3R FATS 7:24 F U A B I NP &
% THTT &A% R T YSIT &A% d BT SUTd T 12

4
7 If AC=22

alto
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The radius and the height of a cone are in the ratio 7:24. The
ratio of the curved surface area and total surface area of the
cone is

(a) 25:34 (b) 25:32

(c) 15:22 (d) 15:26

1
+
61 C0S*(90-8)  sin®(90-6)-

lmrﬂmrﬂn%?

1 1
What is the value of 7
coz* (90-8) + sin3(90-8)-1

(a) Sec’B.tan’8 ;) cosec?B. cot®

() tan® B (d) cot* @

62, *-..."fB 4+ B+ 8cos48 =

(a) 2cosB (b) 4cosB

(c) 8cosb (d) 16cos6

63. STHN IR TS TP <TaR D1 BT, 80 WY, 7w U7 At 8,

g g4 B HTS 60° A TGADT 45° Blell 8 | 1 TR P XIS

%:- The shadow of a tower standing on a level plane is found to

be 80 m longer when the sun’s altitude is 45°, than when it is

60°. The length of the tower is

(a) 40(3+v3)H. 40(3+v3)m

(b) 20(3+v3)HT. 20(3+V3)m

(c) 10(3+v3)Hl. 10(3+V3)m

(d) 30(3+v3)HL. 30(3+V3)m

64. Tl"%y?b-[x%,ﬂs%, Gﬁ?z?ﬁy%, 525 %,?ﬁx&ﬁ?za?d?ﬁl

Wm%? If x% of y is 175 and y% of z is 525, then the

relation between x and z is

(a) z=x (b) z=x/3

(c) z=x/2  (d) z=3x

65. U SR, TP a&g ! 3ifhd Jou WR 15% 3R 10% & &t

PP e P 91g 40,000 T. Bt TISAT 7 | I 1400 T. ARETA

TR Td BT g 3N 4 38,000 %. A I=dT1 8 1 Y SHBT

ETﬁ/ETNmﬁWFIT%? A dealer buys an article marked at

Rs 40,000 with two successive discounts of 15% and 10%. He

spends Rs 1400 on repairs and sells it for Rs 38,000. What is his

loss/profit percent?

(a) 20% BT 20% loss

(b) 20% AIH 20% profit

(c) ZS%BT&T 25% loss

(d) 18.75% ATY 18.75% profit

66. TP oAfadd oI aeg3N | I TP Bl 18,000 F. H WtGdT

31 98 I B HHRT:25% B AT, 8% B ATH 3R 9% F FI W

YT 3, A IS gRI iffa g /g1 ufersra fram 82

A man bought three articles for Rs 18,000 each. He sold the

articles respectively at 25% profit, 8% profit and 9% loss. The

total percentage profit/loss he earned is:-

(a) S%Hﬁaﬁ 8% loss

(b) 8% DI AIH 8% profit

(c) 4% DIAIH 4% profit

(d) N, :fE'Iﬁ No profit No loss

67. 8750%. B1 TP Y-RIA, 2 a9 & F1¢ v fAfya aiffe
T IR 11,774 F. B AT 8, A ATUROT AT TR

4

4- o
UM YRR, GRATR W 5 96l | fhasit gRfl? A sum of
Rs 8750 amounts to Rs 11,774 after 2 years at a certain
compound interest rate per annum, what will be the simple
3

interest on the same sum for = years at double the earlier
interest rate?

(a) 12,440%. Rs 12,440 (b) 12,660%. Rs 12,660

(c) 13,440%. Rs 13,440 (d) 13,660%. Rs 13,660

68. 72 foprii/der 3R 144 fHft/eeT St far A faudia fa=m o
AT HR TG THH TS B 1 ¢ TP g Bl 10 9HS HUR
Hd & | Y Ugelt 2 350 HY. TS & TP Wewid &) fhaa
qHg (m ﬁ) A IR SN Two trains of equal length
travelling in opposite directions at 72 km/h and 144 km/h cross
each other in 10 seconds. In how much time (in seconds) does
the first train cross a platform of length 350 m?

(a) 32.5 (b) 32

(c) 35.5 (d) 24

69. 80 faenRiY @1 uw wem ®, e &1 UTior d sguTa 5:3
21 Te 3w #, unfior faenffal @1 oitwa @ik, wed
Tt | a0% 3iftres 71 afg w3t faenfal 1 shiva @R
92 %, a‘ruﬁwﬁmﬁq’rmaﬁwawﬁ?mm%v In a class of

80 students, the ratio of the urban to the rural is 5:3. In a test,
the average score of the rural students is 40% more than that of
the urban students. If the average score of all the students is 92,
then what is the average score of the rural students?

(a) 122 (b) 102

(c) 92 (d) 112

70. 27 Y TS BTd &Y 9 ol A T He W B, 5 e wrd
B P 9T, 9 3N s Py W IMAAFAZ I A AT
a:‘rdaﬁﬁmﬁﬁ‘—ﬁﬁwaﬁﬁ? 27 men can complete a work

in 9 days. After they have worked for 5 days, 9 more men join
them. How many days will they take to complete the remaining
work?

(a) 3 (b) 2%

(c) 2 (d) 3%

71. Tlﬁ' tan x=cot(50°+6x)%, @ x BTHAFE FT %?

If tan x=cot (50°+6x), then what is the value of x?

(a) 10° (b) (40°)/7

(c) (15°)/2  (d) 12°

72. (QUES: 72 - 75)

IR UT%, THh Fad & Hiax fee e aderor & uRoma &1
i1 8 | 79 & Aol | g1, 7P 3w 2ftaa da &
SUHNT Ha 82, 3IRW PT 3qg Pifore 3R fFafeafaa wel
& I i

The bar graph shows results of a survey carried out within a club.
The members of the club were asked which soft drink they
consumed? Study the diagram and answer the following
questions.
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Number of Consumers

380

340 M
350 A
300 4 280 280
250 4 220
200 A
120 160

150 4

100 A
50 A
0 v

A B C D E F G
Soft drink

o5 <fiaa U &1 gaRT Taifus SuHhT giar g2

Which soft drink was consumed the second highest?

(a) B (b) A

(c) C

73. aﬂaﬁﬁu B%quw&hmuﬂaﬁﬁu £ & IUHITFTSH

{ 3uTd FT 32

What is the ratio of consumers of soft drink B to consumers of

soft drink E?

(a) 14:17 (b) 5:9

(c) 9:5 (d) 17:14

%4. ¢ 9 P IUHNTRAT B =T, D UT |
|

Consumers of drink C are greater than that of drink D by

_ T3t

(@1.375  (b) 1.175

(c) 0.578  (d) 0.752

75. TfS TF AP 20% SUHIET, TF E BT ITHIT URH B ¢,
a0 £ F IUHTTHAt | A DI ghs gl

If 20% of consumers of drink A start consuming drink E then the
consumers of drink E would increase by

(a) 0.14 (b) 0.1

(c) 0.2 (d) 0.28

76. In the sentence identify the segment which contains the
grammatical error.

The close links between India and Bangladesh from the
perspective of migration is well known.

(a) The close links between India and Bangladesh

(b) from the perspective of migration

(c) is well known.

(d) No error

77. In the sentence identify the segment which contains the
grammatical error.

It being a cold and hazy day I will decide to skip gym and stayed
at home.

(a) It being a cold and hazy day

(b) I'will decide to skip gym

(c) and stayed at home.

(d) No error

78. Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

The video (is been) probed and an inquiry is ordered to examine
the conduct of the policemen.

(a) is (b) should

(c) Noimprovement (d) is being

79. Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

People want to minimize (depend) on the government and chose
to migrate immediately after they didn’t find work in their
villages.
(a) dependence (b) depending
(c) dependingly (d) Noimprovement
80. Select the most appropriate word to fill in the blank
Among the agreements the leaders hope to upisa
trade deal that has been pending since November 2018, when
talks went into a standstill.
(a) tie (b) encase
(c) hold (d) wrap
81. Select the most appropriate word to fill in the blank.
Child needs care and affection if he is to be brought up
as a healthy young man.
(a) the (b) a
(c) an (d) no article needed
82. (QUES: 82- 85)
In the following passage some words have been deleted. Fill in
the blanks with the help of the alternatives given. Select the
most appropriate option for each blank.
“Hate the sin and not the sinneris a which, though
easy enough to understand, is rarely , and that is why
the poison of hatred spreads in the world It is quite proper to
resist and attack a system, but to resist and attack its author is
to resisting and attacking oneself. for we are all
with the same brush, and are children of one and the
same Creator, and as such the divine powers within us are
. To slight a single human being is to slight those divine
powers, and thus to harm not only that being but with him the
whole world.”

Hate the sin and not the sinner is a which,
(a) misconception (b) myth
(c) precept (d) prediction

83. though easy enough to understand, is rarely ,
(a) explained (b) practiced

(c) utilized (d) studied

84. but to resist and attack its author is
and attacking oneself.

(@) paramount  (b) inferior

(c) tantamount  (d) jubilant

85. for we are all with the same brush, and are
children of one and the same Creator,

to resisting

(a) tarred (b) designed

(c) carved (d) created

86. and as such the divine powers within us are
(a) meager (b) limited

(c) hypothetical (d) infinite

87. Select the most appropriate meaning of the given idiom.
To spill the beans

(a) To reveal secret information unintentionally

(b) To lose inherited wealth

(c) To spread rumours to intentionally harm someone

(d) To spend away hard-earned savings

88. Select the most appropriate meaning of the given idiom.
To spin one's wheels

(a) to take a chance

(b) to do a job quickly

(c) to narrate someone a confusing story

(d) to waste one's time

89. Select the word which means the same as the group of
words given.
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To reveal the true, objectionable nature of someone

(a) to betray (b) to forsake

(c) to expose (d) to delude

90. Select the word which means the same as the group of

words given.

To regard with disgust and hatred.
(a) tease (b) abhor

(c) ridicule (d) sneer

91. Select the most appropriate synonym of the given word.
Perseverance

(a) Endurance (b) Cowardice

(c) Lethargy (d) Indolence

92. Select the most appropriate synonym of the given word.
Frivolous

(a) Captious (b) Wise

(c) Puerile (d) Spiritual

93. Select the most appropriate antonym of the given word
Adulterate

(a) attenuated (b) purify

(c) vitiated (d) dilute

94. Select the most appropriate antonym of the given word.
Conjoined

(a) sever (b) adjoin

(c) meld (d) affix

95. Select the correctly spelt word.

(a) unraffled (b) unruffled

(c) unrufled (d) unrafled

96. Select the correctly spelt word.

(a) bereaving (b) bereaveing

(c) bereaving  (d) bereaving

97. In the following question, a sentence has been given in
Active/Passive voice. Out of four alternatives suggested, select
the one, which best expresses the same sentence in
Passive/Active voice.

Which boy teased you?

(a) Which were the boy you teased by.

(b) To which boy was you teased.

(c) By which boy were you teased.

(d) None of these.

98. In the following question, a sentence has been given in
Direct/Indirect speech. Out of the four alternatives suggested,
select the one, which best express the same sentence in
Indirect/Direct speech.

Rahul says “I worked last night in the factory.”

(a) Rahul says that he worked the previous night in the factory.
(b) Rahul said that | worked last night in the factory.

(c) Rahul says that he worked last night in the factory.

(d) Rahul said that he worked the previous night in the factory.
99. Given below are four jumbled sentences. Out of the given
options pick the one that gives their correct order.

(R) While the police had allegedly entered the Jamia Millia
Islamia during anti-citizenship

(S) Counterparts in Jamia Millia Islamia and Jawaharlal Nehru
University (JNU) in Delhi.

(P) The students had organised the kite-flying event to express
solidarity with their

(Q) Law protests in December, JNU witnessed violence by
masked attackers on January 5.

(a) SPRQ (b) PSRQ

(c) PRSQ (d) SPQR

100. Given below are four jumbled sentences. Out of the given
options pick the one that gives their correct order.

(Q) issue, after receiving inputs that members of NSUI and ABVP
may enter into confrontation as some students were planning
(S) Deputy Commissioner of Police P.L. Mal said the police
entered the campus over a “law and order

(R) law and order issue. They came back after conducting a
routine patrolling there,” Mr. Mal said.

(P) to fly kites with messages against the CAA”.“The police went
to the campus as it was a

(a) SQPR (b) PSRQ

(c) PRSQ (d) SPQR
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